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SUBJECT

ASSIGNMENT

MATHS

CH — ARITHMETIC PROGRESSION
(EX —5.1,5.2, 5.3)

CH — CO ORDINATE GEOMETRY
(EX-7.1,7.2,7.3)

Note :- Kindly solve different questions related to above topic from RS Agarwal book .

SCIENCE

PHYSICS

Chapter 8. Light Refletcion and Refraction (Pg no 160— 167)(NCERT)

1. Read the chapter thoroughly.( NCERT)

2. Draw the ray diagram of Concave mirror & Convex mirror — Fig 10.2 (pg no 162)

3. Draw and explain briefly images formed by spherical mirrors (both concave & convex) using
ray diagram.

(Fig10.3a &b, Fig10.4a &b, Fig 10.5a & b, Fig 10.6 a & b) Pg no. 164 &165

4. Draw fig 10.7 — Ray diagrams for the image formation by a concave mirror.(Pg no 166)

5. Write table 10.1 — Image formation by a concave mirror for different positions of the
object.(Pg no 164)

6. Draw Fig 10.8 — Formation of image by a convex mirror. (Pg no 167)

7 Write table - 10.2 —Nature, position and relative size of the image formed by convex mirror.
(Pg no 167)

CHEMISTRY

Chapter 3 Metals and Non-metals (Pg no 137 — 155)( NCERT)

1. Differentiate between metals and non-metals on the basis of their physical properties.
2...Differentiate between metals and non-metals on the basis of their chemical properties
3. Write activity 3.12 given in pg on 44.( NCERT)

4. Answer the question no. 4 & 5 given in pg 46.(NCERT)

5. Draw Fig 3.5 and fig 3.6 (Dot structure of ionic compound.)( NCERT)

BIOLOGY

chapter -8- How do Organism reproduce. ( Reproduction in human beings
pg no. 136-136- NCERT)

1. Read the chapter (sub part) Reproduction in human beings.

2. Draw Figure 8.10 Human- male reproductive system and explain briefly (NCERT
BOOK, Pg-137)

3. Draw Figure 8.11 Human- Female reproductive system and explain briefly(NCERT
Book, Pg- 137)

4. What is the role of the seminal vesicles and the prostate gland? (NCERT, PG-140)

What are the changes seen in girls at the time of puberty? (NCERT ,pg-136)

6. How do embryo get nourishment inside the mother’s body(NCERT, pg-138)
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Language
Topic - Letter of Complaint

Complaint Letter Format
SENDER’s ADDRESS- The sender’s address is usually put on the top left-hand corner of the

page.

ENGLISH [DATE- The sender’s address is followed by the date just below it, i.e. on the left side of the
page. This is the date on which the letter is being written. It is to be written in expanded form.

RECEIVER’s ADDRESS- Whether to write “To” above the address depends on the writer’s
preference. Make sure you write the title/name/position etc of the receiving official, as the first
line of the address.

SUBJECT- Then we sum up the purpose of writing the letter in one line. This helps the
receiver focus on the subject of the letter in one glance. It is important to underline the subject.




SALUTATIONS- This is where you greet the person you are addressing the letter to. Bear in
mind that it is a formal letter, so the greeting must be respectful and not too personal. The
general greetings used in formal letters are “Sir” or “Madam”.

BODY- This is the main content of the letter. It is either divided into three paragraphs or two
paragraphs if the letter is briefer. The tone of the content should be formal. Do not use any
offensive language. Another point to be kept in mind is that the letter should be concise and to
the point. And always be respectful and considerate in your language. It should include- Leave a
line after every paragraph.

COMPLIMENTARY CLOSE- At the end of your letter, we write a complimentary closing.
The words “Yours Faithfully” or “Yours Sincerely” are used.

SIGNATURE- Here finally you sign your name. And then write your name in block letters
beneath the signature followed by your designation. This is how the recipient will know who is
sending the letter.

Sample Letter

QUESTION: Write a letter to M/s. Oxford Publishing House, London complaining that the
books sent by them were not those you had ordered for. Ask for a replacement. You are Varun
Joshi, Sector-20, Chandigarh.

ANSwWer:

Examination Hall
Sector-20, Chandigarh

February 20, 2021
M/s. Oxford Publishing House
Consumer Complaint Division

London

Subject: Complaint regarding receipt of wrong set of books.

Sir/Madam

On February 1, 2021 1 bought a book set (Order No. 000154) to be delivered to Chandigarh,
Sector-20.

To my dismay, I have not received the set | ordered for and have instead, received the wrong
book set. | am highly disappointed. (1% para)

To resolve the problem, | would appreciate it if you could replace the wrong book set with the
one originally ordered. Please let me know as soon as possible what action you propose to take.
I look forward to hearing from you within the next ten days. Enclosed are copies of the
transaction document and the receipt. (2" para)

I look forward to your reply and a resolution to my problem and will wait until the
aforementioned time before seeking help from a consumer protection agency or the Better
Business Bureau. Please contact me at the above address or by phone at 098100XXXXX. (3™
para)

Thanking you

Yours sincerely
\Varun Joshi




Topic — Determiners

Quiz

Lisa saw shooting star yesterday.
a
an

the
Don't look directly at sun.

a
an

the
Is there any milk left in fridge?

a
an

the
I need to pack apple for my lunch.

a
an

the
The dogs were given a bone.

each
any

every
The police spoke separately to suspect.

some
She was wearing a bracelet on wrist.

each
any

every
She got her license without problems.

1.
i
i
i
2.
i
i
i
3.
i
i
i
4.
i
i
i
0.
i
i
i
6.
i
i
i
7.
i
i
i
8.
O some
i

i




9. He went with younger sisters.
~ his both
both his

two his
10. I always keep money in my wallet for emergencies.
-~

-

I

any

every

¢ some

Topic — Reported Speech

Quiz

Q1. Nancy said, “I may leave tomorrow.”

A. Nancy said that she might leave the next day.
B. Nancy said that she might leave tomorrow.
C. Nancy asked if she should leave the next day.
D. Nancy informed me to leave tomorrow.

Q2. Keshav said, “Rita is busy right now.”
A. Keshav said Rita was busy.

B. Keshav informed that Rita was busy then.
C. Keshav said Rita had been busy.

D. Keshav informed that Rita is busy.

Q3. The teacher said, “You are suspended!.”
A. The teacher exclaimed that | am suspended.

B. The teacher exclaimed to me to suspend.

C. The teacher informed me that | was suspended.
D. The teacher exclaimed that | was suspended.

Q4. He said, “I have been a great mentor.”
A. He said that he had been a great mentor.
B. He said that he was a great mentor.

C. He exclaimed that he was a great mentor.
D. He said that he has been a great mentor.

Q5. Vidushi said, “We went for a summer trip.”
A. Vidushi said that they went for a summer trip.
B. Vidushi said that they were on a summer trip.
C. Vidushi said that they had gone for a summer trip.
D. Vidushi said they went for a summer trip.

Q6. Rahul said, “I will manage hereafter.”
A. Rahul said that he would manage hereafter.
B. Rahul said that he will manage thereafter.
C. Rahul said that he would manage thereafter.
D. Rahul said that he will manage hereafter.

Q7. “I am going out tonight.” Manisha said.
A. Manisha said that she was going out tonight.
B. Manisha said that she was going out that night.




C. Manisha said she was going out that night.
D. Manisha said that she will be going out that night.

Q8. The guard asked, “Who are you?”
A. The guard asked who he was.

B. The guard asked me who he was.

C. The guard asks me who he was.

D. The guard asked who | was.

Q9. Ravi said, “The concert ended yesterday.”

A. Ravi said that the concert had ended yesterday.

B. Ravi said that the concert ended the day before.

C. Ravi said that the concert had ended the previous day.
D. Ravi said that the concert ended already.

Q10. She said, “Bring a glass of water, please.”
A. She commands me to bring a glass of water.

B. She requested me to bring a glass of water.

C. She asked me to brought a glass of water.

D. She ordered me to bring her a glass of water.

Q11. He said, “Let us have dinner here.”

A. He proposed that we had dinner there.

B. He asked if we wished to have dinner there.
C. He said that we should have dinner there.
D. He said that we had dinner there.

Q12. The salesman said, “Are you interested in the scheme?”
A. The salesman said that if | was interested in the scheme.

B. The salesman said that if | were interested in the scheme.

C. The salesman asks if | am interested in the scheme.

D. The salesman asked me if | was interested in the scheme.

Q13. She said, “Shut the door!”

A. She asked me whether | would shut the door.
B. She ordered me to shut the door.

C. She said that | should shut the door.

D. She shouted and said to shut the door.
Correct Ans. B

Q14. She said, “They will be leaving soon.”
A. She said that they would leave soon.

B. She said that they are leaving.

C. She said that they would be leaving soon.
D. She said that they will leave soon.

Q15. “Alas! It can’t be this bad.” He said.

A. He exclaimed with sorrow that that couldn’t be that bad.
B. He grieved that it couldn’t be that bad.

C. He said that it was really that bad.

D. He said with sorrow that that was bad.

A. The teacher said that the wind was a renewable energy source.
B. The teacher said that the wind is a renewable energy source.

Q16. The teacher said, “The wind is a renewable energy source.”




C. The teacher told that the wind is a renewable energy source.
D. The teacher tells that the wind was a renewable energy source.

Q17. The secretary said, “Is Mr. Fisher in his office?”

A. The secretary said that if Mr. Fisher was in his office.

B. The secretary enquired if Mr. Fisher was in his office.

C. The secretary enquired that if Mr. Fisher was in his office.
D. The secretary asked if Mr. Fisher had been in his office.

Q18. The policeman said, “Don’t cross the speed limit.”
A. The policeman said not to cross the speed limit.

B. The policeman asked if | would cross the speed limit.
C. The policeman forbade me to cross the speed limit.

D. The policeman asks if | had crossed the speed limit.

Q19. Richard said, “I must attend the meeting.”

A. Richard said that he had to attend the meeting.

B. Richard said that it was must that he attend the meeting.
C. Richard said if he must attend the meeting.

D. Richard said that he would attend the meeting.

Q20. She said, “What a beautiful view!”

A. She said that the view was beautiful.

B. She exclaimed that the view is beautiful.

C. She exclaimed with joy and said that the view was beautiful.
D. She exclaimed that the view was beautiful.

Literature
Chapter — Foot Prints Without Feet (Footprints Without Feet)

Question and Answers

Q1) How did the invisible man first become visible?

Ans) The invisible man first became visible when he accidentally stepped into some mud and
his footprints started becoming visible to two boys who followed him until his footprints fainted
and became invisible again. He got rid of them and spent a night at a large London store where
he wore some clothes and slept on a pile of quilts. The next morning, when he was still
sleeping, the store assistants started coming in and saw him which was actually the first time he
was seen.

Q2) Why was he wandering the streets?

Ans)  Griffin had burned down the house of his landlord who had tried to throw him out of the
house. He was a lawless person and to save himself from being caught he removed all his
clothes so that he could not be seen and thus, became a homeless wanderer. He did not have any
money or clothing left with him.

Q3) Why does Mrs. Hall find the scientist eccentric?

Ans)  Griffin arrived at an inn in Iping village during winter season which itself was an
uncommon thing to happen. He also had a weird appearance. Mrs. Hall tried to be friendly with
him but he was rude to her and told her that he didn’t want to be disturbed and the reason for his
visit to the village of Iping was solitude. These were some of the reasons due to which Mrs.Hall




considered him to be an eccentric scientist.

Q4) What curious episode occurs in the study?

Ans) The clergyman and his wife were awakened early one morning by noises in their study
room. When the clergyman went to the study with a metal rod and looked around he could not
find anyone. He even looked under the desk, behind the curtain and up the chimney but no one
was seen. The strangest part was that even though nobody was there the desk was opened and
money was missing from the drawer.

Q5) What other extraordinary things happen at the inn?

Ans) The landlord of the inn and his wife were surprised to see the doors of Griffin’s room
open. They looked inside and found that nobody was inside the room and decided to investigate.
They found it strange that his room’s door was open as he never liked anyone even trying to
enter his room. All of a sudden, while investigating, Mrs. Hall heard a sniff next to her ear and
was hit by Griffin’s hat on the face. Then the chair in the room charged towards Mrs. Hall and
hit her in her legs.

As they both turned in terror, the chair pushed both of them out of the room and the door was
slammed and suddenly a locking sound was heard. Mrs. Hall was scared and felt that the
furniture was haunted by spirits and it was the stranger’s work. The nearby people started
talking that the work was that of a witchcraft.

MCQ Questions

Q1- Who is the author of the story "Footprints without feet"?
A) HG Wells

B) James Herriot

C) John Keats

D) WB Butler

Q2- "THE two boys started in surprise at the fresh muddy imprints of a pair of
A) bare feet

B) shoes

C) tyres

D) none of the above

Q3- He was leaving his imprints in
A) Paris

B) London

C) Iping

D) Canada

Q4- What is the meaning of "bewildered"?
A) perplexed

B) confused

C) puzzled

D) all of the above

Q5- Who were the boys following?




A) a scientist

B) a dog

C)arat

D) none of the above

Q6- What was he working on?

A) making fake footprints

B) making human bodies invisible
C) making a fool of children

D) all of the above

Q7- "Brilliant scientist though he was, Griffin was rather a

A) lawless
B) lawful
C) good
D) rude

person."

Q8- What did he do for revenge?
A) burned himself

B) burned the landlord

C) burned the house

D) he didn’t do anything for revenge

Q9- Griffin’s body became as transparent as
A) glass

B) ice

C) air

D) none of the above

Q10- What suggests that he was a homeless wanderer?
A) no clothes

B) no money

C) invisible

D) all of the above

Q11- Why was it a bad time to wander in London?
A) it was mid-winter

B) he was without clothes

C) both 1 and 2

D) none of the above

Q12- Where did he find comfort in London?
A) at the inn

B) a big store

C) theatre store

D) none of the above




Q13- Where did he go next?
A) at the inn

B) a big store

C) theatre store

D) none of the above

Q14- What did he take from there?
A) food

B) wine

C) bandages

D) all of the above

Q15- How did Griffin finally escape?
A) by hitting them

B) by taking off all his clothes

C) by running away as fast as he could
D) by hiding

SOCIAL
STUDIES

Geography
chapter Agriculture

Read the chapter Agriculture and underline the difficult

words and also find the meanings. Write the following in your Economics notebook.
Q.1 Name three features of Indian agriculture.

ANS.:

a. Farmers own small piece of land and grow crops primarily for their own consumption.
b. Animals play a significant role in the various kinds of agricultural activities.

c. Farmers depend mainly upon monsoon rains.

Q.2. How is it possible to grow rice in areas of less rain, like Punjab, Haryana and Rajasthan?

Ans. Development of canal irrigation and tube wells have made possible to grow rice in
Punjab, Haryana and Rajasthan.

Q3. Mention some industries based on agricultural raw materials.
Ans. Tea, coffee, sugar and cotton industries.

Q.4What are the 2 important beverage crops of India?

Ans.They are coffee and tea.

Q.5. What is gross cultivated area?

Ans. The total area on which crops are grown. It includes the area on which crops are not raised
for 1 to 2 seasons.




Q.6 What is the importance of agriculture in Indian economy?

ANS.

a. India is an agricultural country.

b. Nearly two-thirds of its population depends directly on agriculture for its livelihood.

c. Agriculture is the main stay of India’s economy.

d. It accounts for 26% of the gross domestic product.

e. It ensures food security for the country and produces several raw materials for industries.
f. Agricultural development is therefore, a precondition of our national prosperity.

Q.7What is plantation agriculture?

Ans

a. Plantation farming is bush or tree farming

b. The British introduced it in the nineteenth century.

c. It is a single crop farming of rubber, tea, coffee, cocoa, spices, coconut and fruits like apples,
grapes, oranges etc.

d. It is capital intensive and demands good managerial ability, technical know-how,
sophisticated machinery, fertilizers, irrigation and transport facilities.

e. Some of the plantations like tea, coffee, rubber have a processing factory within the farm
itself or close to it.

f. This type of agriculture has developed in hilly areas of north- eastern India, sub-Himalayan,
West Bengal and in Nilgiri, Anamalai and Cardamom hills in peninsular India.

Q.8, Distinguish between: Rabi and Kharif Crops.

Ans

Rabi and Kharif crops

Kharif:

1. Cultivation begins with the on set of monsoons in May.

2. Sowing of seeds is done in June or early July.

3. Crops are harvested in September- October.

4. Crops depend on the monsoons.

5. Types: Rice, millets, maize, groundnuts, jute, cotton and various pulses.
Rabi

1 Cultivation begins with the withdrawal of monsoons in October.
2. Sowing of seeds is done in October- November.

3. Crops are harvested in April-May.

4. Crops depend on the sub-soil moisture.

5. Types : Wheat, gram and oil-seeds like mustard and rape- seeds

Q.9 Mention the climatic conditions of Tea and Coffee

Coffee

It requires warm and moist-free climate

It requires hot and humid climate

The British introduced it.

The Arabic variety was brought from Yemen.

Tea




It requires 20°C to 30°C temperatures.

It requires 15°C to 28°C temperature.

It requires 300 cm rainfall.

It requires 200 cm rainfall.

It is grown in Assam, West Bengal, Tamil Nadu and Kerala.

It is grown on hills around Nilgiris, Karnataka, Kerala, and Tamil Nadu.

Q.10. Describe the distribution of rice cultivation in India.

Ans.Rice is one of the major food crop in India. India is second largest producer of rice in the
world after China. It is grown on about one fourth of the total cropped area and provides food

to about half of the country’s population. Rice is a tropical plant. It requires high temperature

of about 24°C with minor variation during sowing and harvesting. It requires 100cm of rain. It
Is grown in Punjab, Haryana and Western Uttar Pradesh, Andhra Pradesh, Orissa, western and
eastern coastal strips, Brahmaputra valley and Jammu and Kashmir.

Q.11. Name the two most important staple food crops in India. Mention the geographical
conditions required for their growth.

Ans: The two most important staple food crops in India are rice and wheat.

The geographical conditions required for the growth of rice are as follows.

e It requires high temperature—above 25°C.
It requires high humidity for its growth.
e It requires annual rainfall above 100 cm.
The geographical conditions required for the growth of wheat arenas follows.
o Itisarabicrop and needs cool growing season.
o It requires bright sunshine at the time of ripening.
o Italso requires 50 to 70 cm of annual rainfall, well distributed over the growing season.

Q.12Suggest any five measures to enhance the agricultural production in India

Ans Agricultural is an important economic activity in our country. | would like to suggest the
following measures to enhance the agricultural production in India.

o Each district and block can be made self-sufficient in agricultural production if the
government provides proper agricultural infrastructure, irrigation facilities, electricity,
etc.

e Loans can be provided at lower interest rates to cultivator.

e The use of latest techniques can be encouraged.

« Instead of concentrating only on rice or wheat, the food crop with a better growth
potential in that particular area must be encouraged.

e attracting foreign investment in agriculture and also free trade in grains will not only
increase agricultural production, but will also create massive employment and reduce
poverty in rural areas.




o Farmers should diversify their cropping pattern from cereals to high-value crops.

Sectors of Indian Economy

* Read the chapter sectors of Indian economy and underline the difficult
words and also find the meanings. Write the following in your Economics
note book.

Q1: Fill in the blanks using the correct option given in the bracket:

(i) Employment in the service sector increased to the same extent as production.
(has / has not)

(if) Workers in the sector do not produce goods. (tertiary / agricultural)

(iii) Most of the workers in the sector enjoy job security. (organised /
unorganized)

(iv) A proportion of labourers in India are working in the unorganized sector.
(large / small)

(v) Cotton is a product and cloth is a product. (Natural /
manufactured)

(vi) The activities in primary, secondary and tertiary sectors are . (Independent /
interdependent)

Q. 2. Choose the most appropriate answer.

(a) The sectors are classified into public and private sector on the basis of:
(1) employment conditions

(ii) the nature of economic activity

(iif) ownership of enterprises

(iv) number of workers employed in the enterprise

b) Production of a commodity, mostly through the natural process, is an
activity in sector.

(1) primary

(ii) secondary

(iii) tertiary

(iv) information technology

c) GDP is the total value of produced during a particular year.
(i) all goods and services

(i1) all final goods and services

(iii) all intermediate goods and services

(iv) all intermediate and final goods and services

(d) In terms of GDP the share of tertiary sector in 2003 is

(i) between 20 per cent to 30 per cent

(ii) between 30 per cent to 40 per cent

(ii1) between 50 per cent to 60 per cent

(iv) 70 per cent

Answer:

(a) (iii)

(b) (i)

() (i)

(d) (i)

Q3: Do you think the classification of economic activities into primary, tertiary and
secondary is useful? Explain how.

Answer: The classification of economic activities into primary, tertiary and secondary is
useful on account of the information it provides on how and where the people of a country
are employed. Also this helps in ascertaining as to which sector of economic activity
contributes more or less to the country’s GDP and per capita income.




If the tertiary sector is developing much faster than the primary sector, then it implies that
agriculture is depleting, and the government must take measures to rectify this. The
knowledge that the agricultural profession is becoming unpopular or regressive can only
come if we know which sector it belongs to. Hence it is necessary to classify economic
activities into these sectors for smooth economic administration and development.

Q4: For each of the following sectors that we came across in this chapter why should one
focus on employment and GDP? Could there be other issues which should be examined?
Discuss.

Answer: For each of the sectors mentioned in this chapter our focus should definitely be on
employment and GDP. This is because growth in GDP and full employment are common
goals of Five Year Plans and they also determine the size of a country’s economy. A focus
on employment and GDP helps us to calculate and monitor the most important factors like:
per capita income, productivity, changes in employment rate and contribution to GDP by the
three sectors of economy and thus, takes necessary steps required for the upliftment of the
country’s economy as a whole.

Yes, the other issues which should be examined are —

1. Balanced regional development

2. Equality in income and wealth among the people of the country.

3. How to eradicate poverty

4. Modernization of technology

5. Self-reliance of the country

6. How to achieve surplus food production in the country.

Q5. How is the tertiary sector different from other sectors? Illustrate with a few

examples.

Answer : The tertiary sector different from the primary and secondary sectors this sector
does not produce goods by itself but the other two sectors produce goods. This sector helps
in the development of the primary and secondary sectors. The activities under the tertiary
sector are an aid or support for the production process. For example, transport,
communication, storage, banking, insurance, trade activities etc. Similarly, doctors,
teachers, lawyers, tailor, etc., come under the tertiary sector as they provide services rather
than material goods. This is why this sector is also termed as the service sector.

Q6. What do you understand by disguised unemployment? Explain with an example each
from the urban and rural areas.

Answer:

Disguised unemployment is a kind of unemployment in which people seem to be employed
but are actually unemployed. This is the situation of underemployment, where people are
apparently working but all of them are made to work less than their potential. This situation
is also known as Hidden Unemployment. Such a situation arises when more people are
engaged in a work than required.

For example:

In rural areas, this type of unemployment is often seen in the agricultural sector. Here, if in a
family five members are working on the same piece of land and that land only requires three
workers then the extra two workers are said to be in a situation of disguised unemployment.
In urban areas, this type of unemployment can be seen mostly in service sectors where
workers like painters, plumbers, and electricians are unable to find work on a daily basis and
work less than their potential.

Q7. Distinguish between open unemployment and disguised unemployment.
Answer:

Open unemployment is when a person has no job in hand and does not earn
anything at all. This kind of unemployment is visible. On the other hand,




disguised unemployment is a situation when a person is apparently working but is
made to work less than his or her potential. This type of unemployment is
generally found in unorganized sector where either work is not constantly
available or more people are employed for the same work than required.

Q8. "Tertiary sector is not playing any significant role in the development of
Indian economy." Do you agree? Give reasons in support of your answer.
Answer:

No, it is not correct to say that the tertiary sector is not playing any significant
role in the development of Indian economy. The tertiary sector has emerged as the
largest producing sector in India replacing the primary sector. This sector has a
big contribution to the growth of Indian economy. The GDP share of the tertiary
sector has grown from around 40% in 1973 to more than 50% in 2003.

Q9. Workers are exploited in the unorganized sector. Do you agree with this view? Give
reasons in support of your answer.

Answer:

'Yes, workers are exploited in the unorganized sector. A few reasons in support of this view
are:

The unorganized sector does not offer any job security.

People are made to work for long hours.

They are paid less than they deserve.

Government rules and regulations to protect the labourers are not followed there.

Q10. Compare the employment conditions prevailing in the organized and unorganized
sectors.

* Answer:

* In the organised sector, workers enjoy security of employment. They are
expected to work only a fixed number of hours. If they work more, they have
to be paid overtime by the employer. They also get several other benefits from
the employers like paid leave, payment during holidays, provident fund,
gratuity, medical insurance, etc.

» In the unorganized sector, there is no provision for overtime, paid leave,
holidays, leave due to sickness, medical facilities, etc. They do get any other
allowances apart from daily wages. Employment is not secure. When there is
less work, such as during some seasons, some people may be asked to leave.

Q11. Using examples from your area compare and contrast that activities and functions of
private and public sectors.

Answer:

In the private sector, the assets and industries are owned by the individuals whereas in the
public sectors, industries are owned by the Government. Private sector gives emphasis on
earning profits rather than considering the benefits and interests of its employees. The public
sector, on the other hand, works to provide facilities to the public and to earn profits at the
same time. Some common examples of the public sector include banks, hospitals and
railways undertaken the government. The common examples of the private sector include IT
companies, malls, showrooms, etc.

COMPUTER

Ch. 6: Cyber Ethics
Short answer type questions

1. What is copyright law?

Ans. It is the law that typically protects creative works, like books, movies, music, paintings,




photographs and software. They give the creator/owner exclusive right to control the
reproduction or adaptation of such works for certain period of time.

2. What is a digital certificate?
Ans. A kind of digital code or credential that authenticates the identity of the server.

3. What is the use of antivirus software?
Ans. It is used to designed to detect and remove malicious programs such as viruses, worms,
and Trojan horses from a system.

4. What is plagiarism?
Ans. An act of using others ideas and works without acknowledging the source of that work.

5. Write any two advantages of e-commerce.
Ans.1. It is available 24x7 around years.
2. It greatly reduces the business running cost.

DRAWING

Topic- human figure and face

Complete this drawing in your school drawing copy.
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